
Complète le tableau suivant : 
 

Ecriture 
chiffrée 

Décomposition Ecriture en lettres 

 
65 004 

 

(6 x 10 000) + (5 x 1 000) + (4 x 1)  

 
 
 

 Quatre-cent-soixante-treize- 
mille-cent-cinquante-neuf 

 
197 532 

 

  

 
 
 

(5 x 100 000) + (4 x 10 000) + (8 x 1 000) 
+ (5 x 10) + (4 x 1) 

 

 

 

 

Complète le tableau suivant : 
 

Ecriture 
chiffrée 

Décomposition Ecriture en lettres 

 
65 004 

 

(6x 10 000) + (5 x 1000) + (4 x 1)  

 
 
 

 Quatre-cent-soixante-treize- 
mille-cent-cinquante-neuf 

 
197 532 

 

  

 
 
 

(5 x 100 000) + (4 x 10 000) + (8 x 1000) 
+ (5 x 10) + (4 x 1) 

 

 


